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QUESTION 1

What is the highest normal form of the relation(s) shown in the exhibit? 

A. Second normal form 

B. First normal form 

C. Boyce-Codd normal form 

D. Third normal form 

Correct Answer: A 

 

QUESTION 2

Consider the table for an employee database shown in the exhibit. What is the cardinality of the table? 

B. 20 

C. 4 

D. 25 

Correct Answer: C 
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QUESTION 3

Consider the Registration relation shown in the exhibit. Which of the following SQL statements would return all tuples
that have course codes beginning with the letter M? 

A. SELECT * FROM Registration WHERE Course_Code = M#; 

B. SELECT * FROM Registration WHERE Course_Code LIKE M_; 

C. SELECT * FROM Registration WHERE Course_Code LIKE M%; 

D. SELECT * FROM Registration WHERE Course_Code = M%; 

Correct Answer: C 

 

QUESTION 4

In which situation would the DBMS use a serial schedule to execute the transactions? 

A. Concurrent transactions read data from the same data structure. 

B. Concurrent transactions write data to different data structures. 

C. Concurrent transactions read or write the same data structure. 

D. Concurrent transactions read or write from different data structures. 

Correct Answer: C 

 

QUESTION 5

Consider the relation shown in the exhibit. Which of the following SQL statements would properly add information for a
new employee? 
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A. INSERT INTO Employee VALUES(0005, Tim, Bogart, 03-15-77); 

B. INSERT INTO Employee(Emp_ID, First_Name, Last_Name, Birth_Date) VALUES(0004, Tim, Bogart, 03-15-77); 

C. INSERT INTO Employee(Emp_ID, First_Name, Last_Name, Birth_Date) VALUES(0005, Tim, Bogart, 03-05-77); 

D. INSERT INTO Employee(Emp_ID, First_Name, Last_Name, Birth_Date) VALUES(0005, Tim, Bogart, 03-05-77); 

Correct Answer: D 
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